Testing Statistical Hypotheses

One Sample Problem:

o2 known, normal population

Null Alternative Test Statistic | Rejection Region | p-value

Hypothesis: Hy | Hypothesis: H;

L= Ho H # Ho X — 11, 2] > Za2 2P(Z > |z|)
> < Z= 7<-Z P(Z<2)

K= Ho M < Ho O'/\/H a

K< Uo > o 7> 7« P(Z>2)

o unknown, large sample

Null Alternative Test Statistic | Rejection Region | p-value

Hypothesis: Hy | Hypothesis: H;

K= Ho K # o X — 12| > Zw2 2P(Z > |z])

1> o u < o Z:s/\/ﬁ Z < -Zq P(Z<2)

u <o U > W Z> 24 P(Z>2)

o unknown, small sample, normal population

Null Alternative Test Statistic | Rejection Region | p-value

Hypothesis: Hy | Hypothesis: H;

L= Ho L # Ho X — 14, [t] > tawzna 2P (tn-1> [t])

W= Ho U< Mo t= t < -tgn-1 P((tn-1< t)

s/n

U< Ho 1> U t > tan-1 P((tn-1> t)

A population proportion, large sample

Null Alternative Test Statistic Rejection p-value

Hypothesis: Hy | Hypothesis: H; Region

T=Tg T# 7o B p-r, 2| > zap2 2P(Z > |z|)

T2 7T T< o - f”o(l_”o)/n 7 < -2 P(Z<2)

< 7o T> 7o Z> 2 P(Z > 2)




